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Question 4  (25 marks) 
The points A(1, 8) and B(9, 0) are the end-points of a diameter 
of the circle ݓ, as shown in the diagram. 
 
(a) Find the co-ordinates of the centre of ݓ. 
 
 
 
 
 
 
 
(b) Find the length of the radius of ݓ.  Give your answer in the form ݌ඥݍ, where ݌, ݍ ∈  ℕ. 
 
 
 
 
 
 
 
 
(c) Hence write down the equation of the circle ݓ. 
  
 
 
 
 
(d) Find the equation of the line that is a tangent to the circle ݓ at ܣ.   
 Give your answer in the form  ܽݔ + ݕܾ + ܿ = 0, where  ܽ, ܾ, and ܿ ∈ ℤ. 
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